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Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage carefully and answer the questions that follows:

The reformer must know that what moves people is the authentic life. not mere writing. The newspapers and
journals that Lokmanya Tilak and Gandhiji ran the books they wrote. sold little. but had enormous effect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
their lives which lent weight to their message, to their example. All knew that their lives were an integral
whole - they were not moral in public life and lax in private, nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who 1s merely entertaining his readers, even one who is merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here is the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak: I
believe that an editor who has anything worth saying and who commands a clientele cannot be easily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lolananya Spoke more eloquently
trom the Mandalay fortress than through the columns of the printed Kesari. His influence was multiplied
thousandfold by his imprisonment and his speech, and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise lus life’s dream. He could possibly have done more if he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this
expression of his or that. Today his message rules millions of hearts which are determined to raise a permanent
living memorial by the fulfilment of his ambition in their lives.”

Sub questions

Question Number : 1 Question Id : 68634037780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more eloquently from the Mandalay fortress than through the columns of the printed Kesari.

What 1s the meaning of ‘eloquently’ in the above sentence?

1. announce solemnly

B

. Convert in the intelligible language

L¥w)

. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340149201. 1
686340149202. 2
686340149203. 3
686340149204. 4

Question Number : 2 Question Id : 68634037781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is the result of Lokmanya Tilak’s exemplary life ?

1. People resolved to fulfil his life’s dreams

d

2. The newspapers edited by him did not incur money loss
3. The books written by him were useful

4. Critics still find fault with his views

Options :

686340149205. 1
686340149206. 2
686340149207. 3
686340149208. 4

Question Number : 3 Question Id : 68634037782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi 15
true?

1. Their influence on people was negligible

| )

. Very few people used to read the newspapers edited by them

LF¥]

. They were moral in private life but lax in public life
4. They were allowed to edit their newspapers even from inside the jail

Options :

686340149209. 1
686340149210. 2
686340149211. 3
686340149212. 4

Question Number : 4 Question Id : 68634037783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the general tendency of critics, according to the passage?

1. To find fault with one or the other expression of a writer

| S]

. To price only those writers whom they like

3. To suggest new ideas to the public

i

. To justify their criticism

Options :
686340149213. 1
686340149214. 2



686340149215. 3
686340149216. 4

Question Number : 5 Question Id : 68634037784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya Tilak’s messages were most effective:

1. when he delivered through his editorials

-2

. betore his imprisonment
3. when he became an informer
4, when he delivered speeches

Options :

686340149217. 1
686340149218. 2
686340149219. 3
686340149220. 4

Question Id : 68634037779 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

The reformer must know that what moves people is the authentic life. not mere writing. The newspapers and
journals that Lokmanya Tilak and Gandhiji ran the books they wrote. sold little. but had enormous effect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
their lives which lent weight to their message, to their example. All knew that their lives were an integral
whole - they were not moral in public life and lax in private, nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who 1s merely entertaining his readers. even one who 1s merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here is the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak; *1
believe that an editor who has anything worth saying and who commands a clientele cannot be casily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lolimanya Spoke more eloquently
trom the Mandalay fortress than through the columns of the printed Kesari. His mfluence was multiplied
thousandfold by his imprisonment and his speech. and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise his life’s dream. He could possibly have done more if he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this
expression of his or that, Today his message rules millions of hearts which are determined to raise a permanent
living memorial by the fulfiliment of his ambition in their lives.”

Sub questions



Question Number : 1 Question Id : 68634037780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more eloquently from the Mandalay fortress than through the columns of the printed Kesari.

What iz the meaning of ‘eloquently’ in the above sentence?

1. announce solemnly

| B

. Convert in the intelligible language

Tad

. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340149201. 1
686340149202. 2
686340149203. 3
686340149204. 4

Question Number : 2 Question Id : 68634037781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Which of the following is the result of Lokmanya Tilak’s exemplary life ?

1. People resolved to fulfil his life’s dreams

J

. The newspapers edited by him did not ineur money loss
3. The books written by him were useful

4. Critics still find fault with his views

Options :

686340149205. 1
686340149206. 2
686340149207. 3
686340149208. 4

Question Number : 3 Question Id : 68634037782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi is
true?

1. Their influence on people was negligible

[ ]

. Very few people used to read the newspapers edited by them

Lad

. They were moral in private life but lax in public life
4. They were allowed to edit their newspapers even from inside the jail

Options :

686340149209. 1
686340149210. 2
686340149211. 3
686340149212. 4

Question Number : 4 Question Id : 68634037783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the general tendency of crities. according to the passage?

1. To find fault with one or the other expression of a writer

J

. To price only those writers whom they like
3. To suggest new ideas to the public
4. To justify their criticism

Options :

686340149213. 1

686340149214. 2

686340149215. 3
686340149216. 4

Question Number : 5 Question Id : 68634037784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya Tilak’s messages were most effective:

1. when he delivered through his editorials

b2

. before his imprisonment

LFN]

. when he became an mformer
4. when he delivered speeches

Options :
686340149217. 1



686340149218. 2
686340149219. 3
686340149220. 4

Sub-Section Number : 2
Sub-Section Id : 6863401244
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634037785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Rennet casein is produced skin milk by coagulation rennet. Soluble calcium ions are
required this reaction. Sufficient quantities calcium 1s already present in milk.

1. from. with. for, of
2. from. with. of. for

. from. in. with. for

L]

4. from. of. for, with

Options :

686340149221. 1
686340149222. 2
686340149223. 3
686340149224. 4

Question Number : 6 Question Id : 68634037785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Rennet casein is produced skin milk by coagulation rennet. Soluble calcium ions are
required this reaction. Sufficient quantities calelum 1s already present in milk.

1. from. with. for, of

o

2. from. with. of. for

. from. in. with. for

[F¥]

4. from. of. for, with

Options :

686340149221. 1
686340149222. 2
686340149223. 3
686340149224. 4



Question Number : 7 Question Id : 68634037786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Plagiarize 1. |Disrespectful
B. |[Dubious 1L |Gift
C. [Contemptoous | I [Uncertain
D. [Hamper IV |Copy

Choose the correct answer from the options given below:

1. A-IV. B-II. C-1, D-IIT

[

. A-IIL B-I, C-IV, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-1. B-II1, C-IV, D-11

Options :

686340149225. 1
686340149226. 2
686340149227. 3
686340149228. 4

Question Number : 7 Question Id : 68634037786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Plagiarize 1. |Disrespectful
B. |[Dubious 1L |Gift
C. [Contemptoous | I [Uncertain
D. [Hamper IV |Copy

Choose the correct answer from the options given below:

1. A-IV. B-II. C-1, D-IIT

[

. A-IIL B-I, C-IV, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-1. B-II1, C-IV, D-11

Options :

686340149225. 1
686340149226. 2
686340149227. 3
686340149228. 4



Question Number : 8 Question Id : 68634037787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Select the suitable grammatically correct sentence from the given options.

1. The team is confident to win the match

-~

2. The team is confident of winning the match
3. The team 1s confident of win the match
4. The team is confident for winning the match

Options :

686340149229. 1
686340149230. 2
686340149231. 3
686340149232. 4

Question Number : 8 Question Id : 68634037787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the suitable grammatically correct sentence from the given options.

1. The team is confident to win the match

-~

2. The team is confident of winning the match
3. The team 1s confident of win the match
4. The team is confident for winning the match

Options :

686340149229. 1
686340149230. 2
686340149231. 3
686340149232. 4

Question Number : 9 Question Id : 68634037788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all time

1. highest

- |

2. high
3. lowest
4. cost

Options :

686340149233. 1
686340149234. 2
686340149235. 3
686340149236. 4

Question Number : 9 Question Id : 68634037788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all time

1. highest

-}

2. high
3. lowest
4. cost

Options :

686340149233. 1
686340149234. 2
686340149235. 3
686340149236. 4

Question Number : 10 Question Id : 68634037789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct spelling word for:

"A board game in which players buildup words from small size lettered tiles.”

1. Scrablle

2

. Scrabble
3. Skrable

4. Serablee

Options :

686340149237. 1
686340149238. 2
686340149239. 3
686340149240. 4

Question Number : 10 Question Id : 68634037789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct spelling word for:
"A board game in which players buildup words from small size lettered tiles.”
1. Serablle
2. Scrabble

3. Skrable

4. Serablee

Options :

686340149237. 1
686340149238. 2
686340149239. 3
686340149240. 4

Question Number : 11 Question Id : 68634037790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I ] 2 %
If 5x+4y = §3 and — = 1. then the value of x*-)* 1s:

2x :
3y 21

1. 83

2

iy
3. 18
4.4

Options :

686340149241. 1
686340149242. 2
686340149243. 3
686340149244. 4

Question Number : 11 Question Id : 68634037790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 2x 1 ;
If 5x+4y =83 and = 1 —. then the value of 27 is:
3y

1. 83

| B

Eily
3. 18
4.4
Options :
686340149241. 1
686340149242. 2

686340149243. 3
686340149244. 4

Question Number : 12 Question Id : 68634037791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 cm, 9 m and 4 m
05 cm.

1.16m
2. 95 em
3.65cm
4.45 em

Options :



686340149245. 1
686340149246. 2
686340149247. 3
686340149248. 4

Question Number : 12 Question Id : 68634037791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 cm, 9 m and 4 m
05 cm.

1.16m
2. 95 em

.65 em

Lad

4. 45 em

Options :

686340149245. 1
686340149246. 2
686340149247. 3
686340149248. 4

Question Number : 13 Question Id : 68634037792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of marks of 15 papers 1s 42. The average of marks of first 8 papers is 45 and that of the last 8

STh

papers is 36. The marks of 8" paper are:

115

| ]

16
58 [
4. 18

Options :

686340149249. 1
686340149250. 2
686340149251. 3
686340149252. 4

Question Number : 13 Question Id : 68634037792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



The average of marks of 15 papers 18 42. The average of marks of first 8 papers 1s 45 and that of the last 8

STh

papers is 36, The marks of 8™ paper are:

3 DB

| ]

. 16
8 [
4. 18

Options :

686340149249. 1
686340149250. 2
686340149251. 3
686340149252. 4

Question Number : 14 Question Id : 68634037793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages 1s 3:5. then after
five years the ratio of their ages will be:

Options :

686340149253. 1
686340149254. 2
686340149255. 3
686340149256. 4

Question Number : 14 Question Id : 68634037793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages is 3:5. then after
five years the ratio of their ages will be:



Options :

686340149253. 1
686340149254. 2
686340149255. 3
686340149256. 4

Question Number : 15 Question Id : 68634037794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for T 3.600. Sonu along can do it in 6 days while Monu alone
can do it n 8 days. With the help of Ramu, they finish 1t m 3 days. The share of Ramu (in ) wall be :

1.1350

d
L]
[
=)

4. 450

Options :

686340149257. 1
686340149258. 2
686340149259. 3
686340149260. 4

Question Number : 15 Question Id : 68634037794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for T 3.600. Sonu along can do it in 6 days while Monu alone
can do it in 8 days. With the help of Ramu, they finish it in 3 days. The share of Ramu (in I) will be :

1.1350

| B

. 900
3.1200
4. 450

Options :

686340149257. 1
686340149258. 2
686340149259. 3
686340149260. 4

Question Number : 16 Question Id : 68634037795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
i the row. If Nisha was 4 places right to Muskan's original position. what is the Nisha's position from the
Muskan’s left side row end?

| ]
[ B
o

4 24

Options :

686340149261. 1
686340149262. 2
686340149263. 3
686340149264. 4

Question Number : 16 Question Id : 68634037795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
i the row. If Nisha was 4 places right to Muskan's original position. what is the Nisha's position from the
Muskan’s left side row end?

[ ]
[ )
o

4.24

Options :

686340149261. 1
686340149262. 2
686340149263. 3
686340149264. 4

Question Number : 17 Question Id : 68634037796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain code. 15789 is written as EGKPT and 2436 is written as ALUR, how is 24539 written in that
code?

1. ALGTU
2. ALEUT
J.ALGUT

4. ALGRT

Options :

686340149265. 1
686340149266. 2
686340149267. 3
686340149268. 4

Question Number : 17 Question Id : 68634037796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain code. 15789 is written as EGKPT and 2436 is written as ALUR. how is 24539 written in that
code?

1. ALGTU
2.ALEUT
3. ALGUT

4. ALGRT

Options :

686340149265. 1
686340149266. 2
686340149267. 3
686340149268. 4

Question Number : 18 Question Id : 68634037797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statements : (1) All leaves are dim.

(11) No dim 1s brush.

(111) All tops are brushes.
Conclusions : I. Some tops are leaves.

I1. Some dim is top.

III. Some dim 1s leaf.

IV. Some tops are brushes.
Choose the correct option from the following:

1. Only I and II follow

| B

. Only II and IIT follow

LFS]

. Only IIT and IV follow
4. Only I and IV follow

Options :

686340149269. 1
686340149270. 2
686340149271. 3
686340149272. 4

Question Number : 18 Question Id : 68634037797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statements : (1) All leaves are dim.

(11) No dim 1s brush.

(111) All tops are brushes.
Conclusions : I. Some tops are leaves.

I1. Some dim is top.

III. Some dim 1s leaf.

IV. Some tops are brushes.
Choose the correct option from the following:

1. Only I and II follow

| B

. Only II and IIT follow

LFS]

. Only IIT and IV follow
4. Only I and IV follow

Options :

686340149269. 1
686340149270. 2
686340149271. 3
686340149272. 4

Question Number : 19 Question Id : 68634037798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from there matrices can be represented first by its row and then the column number.

Matrix-I

o [t Iz 4
o |[F [a [W]o [t
1 I Jo Fla |n
2 AN ot [F
3 JofF I [v [a
4+ N1 [AlF Jo
Matrix-I1
s 16 718 o |
5 s [B [T
6 |H[s [E[T [B
7 It s | [H
s |E [H [T [B s
9 It s [E g |B |

Identify the correct set for the word FAITH :
1.43.42,41, 78, 89
2. 3%,34,23, 76,79
3.24,31. 10, 59, 57
4,12, 20.40. 68. 65
Options :
686340149273. 1
686340149274. 2

686340149275. 3
686340149276. 4

Question Number : 19 Question Id : 68634037798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from there matrices can be represented first by its row and then the column number.

Matrix-I

0ot 23 |4
0 |F Ja w]o |t
1 I Jo Fla |N
2 [ANJoft JF
3 JoJF L v Ja
4 vt [AlF Jo
Matrix-IT
s e 708 Jo |
5 IsE s It
6 H s [T |B
7 BIr s e |u
8 |EH T [B s
9 |t s [E|H [B |

Identify the correct set for the word FAITH :
1.43.42.41, 78, 89
2.31,34,23,76,79
3.24,31.10. 59, 57
4.12. 20. 40, 68. 65
Options :
686340149273. 1
686340149274. 2

686340149275. 3
686340149276. 4

Question Number : 20 Question Id : 68634037799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Select the pair that has the same relationship as the original pair of words given below
Egg : Omelette
1. Dam : River
2. Student : Classroom
3. Onion : Jam

4. Clay : Pottery

Options :



686340149277. 1
686340149278. 2
686340149279. 3
686340149280. 4

Question Number : 20 Question Id : 68634037799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the pair that has the same relationship as the original pair of words given below

Egg : Omelette

1. Dam : River

| B

. Student : Classroom
3. Onion ; Jam
4. Clay : Pottery

Options :

686340149277. 1
686340149278. 2
686340149279. 3
686340149280. 4

Question Number : 21 Question Id : 68634037800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which article of the Indian constitution provides for the institution of Panchayati Raj?

1. Artiele 36

J

Article 30
3. Article 40

4. Article 48

Options :

686340149281. 1
686340149282. 2
686340149283. 3
686340149284. 4

Question Number : 21 Question Id : 68634037800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which article of the Indian constitution provides for the institution of Panchayati Raj?

1. Asticle 36

| S]

. Artiele 30
3. Article 40

4. Article 48

Options :

686340149281. 1
686340149282. 2
686340149283. 3
686340149284. 4

Question Number : 22 Question Id : 68634037801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Book Name) LIST I {Author Name)
A My Truth 1. [Mahatma Gandhi
B. |The Broken Wings II. Indira Gandhi
C. DMy Experiments with Truth] III. [Sarojini Naidu
D. [Exam Warriors IV. |[Narendra Modi

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I. D-II

| )

A-TIL B-1IL C-L. D-IV
3. A-IL B-II1, C-1, D-IV
4. A-IL, B-IIL, C-IV, D-I

Options :

686340149285. 1
686340149286. 2
686340149287. 3
686340149288. 4

Question Number : 22 Question Id : 68634037801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Book Name) LIST I {Author Name)
A My Truth 1. [Mahatma Gandhi
B. |The Broken Wings II. Indira Gandhi
C. DMy Experiments with Truth] III. [Sarojini Naidu
D. [Exam Warriors IV. |[Narendra Modi

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I. D-II

| )

A-TIL B-1IL C-L. D-IV
3. A-IL B-II1, C-1, D-IV
4. A-IL, B-IIL, C-IV, D-I

Options :

686340149285. 1
686340149286. 2
686340149287. 3
686340149288. 4

Question Number : 23 Question Id : 68634037802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the first Indian women to win gold in Agian games ?
1. P.T. Usha
2. Shing Wilson
3. Kamaljeet Sandhu
4. Shweta Chaudhary

Options :

686340149289. 1
686340149290. 2
686340149291. 3
686340149292. 4

Question Number : 23 Question Id : 68634037802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the first Indian women to win gold in Agian games ?

1.PT. Usha

| S]

. Shing Wilson
3. Kamaljeet Sandhu
4. Shweta Chaudhary

Options :

686340149289. 1
686340149290. 2
686340149291. 3
686340149292. 4

Question Number : 24 Question Id : 68634037803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:
Assertion A : Radio waves bend in a magnetic field.

Reason R : Radio waves are electromagnetic in nature.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 13 NOT the correct explanation of A
3. A s true but R is not false

4. A is not false but B 15 true

Options :

686340149293. 1
686340149294. 2
686340149295. 3
686340149296. 4

Question Number : 24 Question Id : 68634037803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R:
Assertion A : Radio waves bend in a magnetic field.

Reason R : Radio waves are electromagnetic in nature.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[ B

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is not false

4. A is not false but B 15 true

Options :

686340149293. 1
686340149294. 2
686340149295. 3
686340149296. 4

Question Number : 25 Question Id : 68634037804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement I : Dolamite 1s used as refractory material and flux in iron and steel industry.

Statement IT : Lignite and low grade bituminous coal were formed during the quaternary period.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340149297. 1
686340149298. 2
686340149299. 3
686340149300. 4

Question Number : 25 Question Id : 68634037804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Give below are two statements:

Statement I : Dolamite 1s used as refractory material and flux in iron and steel industry.

Statement IT ; Lignite and low grade bituminous coal were formed during the quaternary period.

In the light of the above statements. choose the mest appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

| S

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement I is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340149297. 1
686340149298. 2
686340149299. 3
686340149300. 4

Part B: Animal Science

Section Id : 686340744
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401245
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634037805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Indian veterinary research institute 1s located at

1. Delhi
2. Karnal
3. Izatnagar

4, Mumbai
Options :
686340149301. 1
686340149302. 2
686340149303. 3
686340149304. 4



Question Number : 26 Question Id : 68634037805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
YR Y S = $al (d 67

1. foewdl

2. Pl

3. TR
4. grEg

Options :

686340149301. 1
686340149302. 2
686340149303. 3
686340149304. 4

Question Number : 27 Question Id : 68634037806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
World's No. 1 egg producer is

1. New Hemisphere

)

. Leghom
3. English class

4, Rhode Island Red
Options :
686340149305. 1
686340149306. 2
686340149307. 3
686340149308. 4

Question Number : 27 Question Id : 68634037806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fay T 5.1 SIS ITET B 7

1. =L M@

2, TR

3. SITCT el

4. 33 AT IS
Options :

686340149305. 1
686340149306. 2



686340149307. 3
686340149308. 4

Question Number : 28 Question Id : 68634037807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Blue revolution 1s related to

1. Crops

[ ]

. Vegetables

. Fisheries

Lad

4, Milk
Options :
686340149309. 1
686340149310. 2
686340149311. 3
686340149312. 4

Question Number : 28 Question Id : 68634037807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=fiet spif 9 Haiftre g
1. YW

- gfsaar

3. ATkt

[

455
Options :
686340149309. 1
686340149310. 2
686340149311. 3
686340149312. 4

Question Number : 29 Question Id : 68634037808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
India's rank in livestock population is

1.1

J

i
3.10

4, IV
Options :



686340149313. 1
686340149314. 2
686340149315. 3
686340149316. 4

Question Number : 29 Question Id : 68634037808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR SN B YR &1 U8 (X&) 71 82

1.1

o

2.1
3. I

4. IV
Options :
686340149313. 1
686340149314. 2
686340149315. 3
686340149316. 4

Question Number : 30 Question Id : 68634037809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Indian Livestock census is conducted after every

1.2 years

| B

.5 years
3. 15 years

4, 20 years
Options :
686340149317. 1
686340149318. 2
686340149319. 3
686340149320. 4

Question Number : 30 Question Id : 68634037809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRR TIeE &1 0T, TS ay gyTd 1 & g

1.2

o=
wn



Options :

686340149317. 1
686340149318. 2
686340149319. 3
686340149320. 4

Question Number : 31 Question Id : 68634037810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Disease responsible for huge economic losses to dairy industry every year
18

1. Metritis

[ ]

. Milk fever
3. Mastitis

4. Teat block
Options :
686340149321. 1
686340149322, 2
686340149323. 3
686340149324. 4

Question Number : 31 Question Id : 68634037810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag . o ey ST S 9 omR afa & g foeRE
1. TTHIRME Y (Hemsied)

e B

3, TRy (y=e)

|

4, U9 HASGU (Cle-aiid)
Options :
686340149321. 1
686340149322. 2
686340149323. 3
686340149324, 4

Question Number : 32 Question Id : 68634037811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bird flu 1s caused by

1. Avian adenovirus

[ ]

. Avian influenza virus

Lad

. Avian poxvirus

4. Avian leucosis virus
Options :
686340149325. 1
686340149326. 2
686340149327. 3
686340149328. 4

Question Number : 32 Question Id : 68634037811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS TR BT RO FT 87

1. Uf4T+ USAaEey
2. UfagH SRIUST aERd

Ty

3. UfdTH dies 9y

4. UfaT o119 araey
Options :
686340149325, 1
686340149326. 2
686340149327.3
686340149328. 4

Question Number : 33 Question Id : 68634037812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Common clinical manifestation of brucellosis in animals is

1. Chronic debility

[ ]

. Diarrhoea
3. lameness

4, Abortions
Options :
686340149329. 1
686340149330. 2
686340149331. 3
686340149332. 4



Question Number : 33 Question Id : 68634037812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aerail H SR o I SeHe U &l

L= [ et [

1. QT gREdl (b Sfaferd)

AR (%)

[

3. TS

4, g
Options :
686340149329. 1
686340149330. 2
686340149331. 3
686340149332, 4

Question Number : 34 Question Id : 68634037813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Type) {Breeds)
A Pilch I. |Amritmahal
B. [Drought II. |Sahiwal
C. |Dual purpose | IIL [Holstein Freisan)
D [Exotic V. [Deoni

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II. D-III

| )

A-TLL B-TIIL C-IV. D-IIT
3. AL B-IV. C-1, D-III

4, A-IL. B-1. C-IV, D-III
Options :
686340149333. 1
686340149334. 2
686340149335. 3
686340149336. 4

Question Number : 34 Question Id : 68634037813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 11 = 11 ¥ e Sifsg

T T
TN ksl
A [H I |35d Jed
B. [Gisn e aial | 1. [Fear
¢ [leudexm | fen I ERA
D. |faash V. [aa
fefaiRad fasedi ¥ O Oel IR &1 994 Sifor

1. A-L. B-IV. C-II. D-IIT

| )

CA-IIL B-IIIL C-IV, D-III
3. A-IL B-IV, C-I, D-III

4. A-I1. B-1. C-IV, D-III
Options :
686340149333. 1
686340149334, 2
686340149335. 3
686340149336. 4

Question Number : 35 Question Id : 68634037814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Vitamins) |[LIST IT (Deficiency Disease)
A |Vitamin E I. Poly Deunitis

B |Thiamins II. |Crazy chick disease

C. [Riboflavin II1. [Penguin like posture

D [Vitamin D IV |Curled toe paralvsis

Choose the correct answer from the options given below:

1. A-IL. B-I, C-IV, D-III
2. A-L. B-IL. C-III. D-IV
3. A-IV. B-II1. C-II. D-I

4. A-IV. B-ITI. C-1. D-1I
Options :
686340149337. 1
686340149338. 2
686340149339. 3
686340149340. 4



Question Number : 35 Question Id : 68634037814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 11 gl 11 9 e o

A1 Tl 11
EEIGE BT I
EEIEEES L [glell sREey
TS 1. [ehil foids 3

ZEiUdidd | 11 [07FaH &l aiE @1 95l
EEIEEE V. [630d W ud

frafefad faped 9 9 w6l 3w @1 997 Fifon -

ofo[w]s

1. A-IL. B-I. C-IV, D-III

[ ]

.A-IL B-II. C-II1. D-IV
3. A-IV. B-II1, C-II, D-1

4. A-TV. B-II1. C-1, D-I1
Options :
686340149337. 1
686340149338. 2
686340149339. 3
686340149340. 4

Question Number : 36 Question Id : 68634037815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Occurrence of a disease in a community clearly in excess of acceptance is called

A. Sporadic

B. Epidemic

C. Pandemic
D. Endemic

E. Micro demic

Choose the most appropriate answer from the options given below :

1. A only

2

. B only
3.C & D only

4. A& Conly
Options :
686340149341. 1
686340149342. 2
686340149343 3



686340149344. 4

Question Number : 36 Question Id : 68634037815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gﬁﬁﬂaﬂw T H wigd A ¥ Sifter H&an § g o= F1 el

A f&e-ge (q@i)

B.
c. fayart
D. TH%
R ECARIEED

9 (40 U [doey] § U 9ol 3R &1 9494 Sio:
1. %d A
2. $adu B
3.%9d C 3RD
4. dad A IR C

Options :

686340149341. 1
686340149342, 2
686340149343. 3
686340149344. 4

Question Number : 37 Question Id : 68634037816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following diseases are transmitted by biting insects?

A. Foot & mouth disease
B. Blue tongue

C. Brucellosis

D. Glanders

E. Rabies

Choose the most appropriate answer from the options given below :

1. B only

I

A& C only
3.D & E only

4. A& B only
Options :
686340149345. 1
686340149346. 2



686340149347. 3
686340149348. 4

Question Number : 37 Question Id : 68634037816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
fFafaiRad @ 9 fo= Sl &1 =T Sew diel (die- did Bicl) gRI Bldl
87

A, X SR HE BT
B. Ha foigT
C. SHIY
D. ciad
E. Ydio
i< feu U faeedl & 9§ Tgl 3TR &1 994 Sifeit:
1. dd B
2. AT AIRC
3. HAAD ARE

4. BATAIRB
Options :
686340149345. 1
686340149346. 2
686340149347. 3
686340149348. 4

Question Number : 38 Question Id : 68634037817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Ranikhet is an acute viral disease of poultry.

Statement IT : Virus has zoonotic effect & can cause human death.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both Statement I and Statement II are true

-

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true
Options :
686340149349. 1
686340149350. 2
686340149351. 3
686340149352. 4



Question Number : 38 Question Id : 68634037817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIECICRIEICUR) I f
HYA I: TG, PaPe UIa P [9he [quIueE I 5
HYA I1: [I910] ST U U@ glal g SR 388 9Hd &1 5 1 81 9abdl g
SRS Y & Taie 1, =19 [y T [aeedl o 3 9t S &1 997 S
1. PYA ISR IS T 8
2. HYA T 3R 11 SHT SR

3 HYTIgT S, AT PUT I A &

4. YT HTA. APTFYUT N TIE
Options :
686340149349. 1
686340149350. 2
686340149351. 3
686340149352. 4

Question Number : 39 Question Id : 68634037818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the various feed stuffs according to their moisture content in descending
order.

A. Succulent fodder
B. Silage

C. Haylage

D. Cereals

E. Hay

Choose the correct answer from the options given below :

FAB, CILE

| ]

B.CDAE
3.EED:B.C.A

4, A.B.C.E.D
Options :
686340149353. 1
686340149354. 2
686340149355. 3
686340149356. 4

Question Number : 39 Question Id : 68634037818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

faftrs @) arafEl & 38 F01 & 0 & "Ucd oF § Jaieyd Sife|

A. IS IR (T BigY)
B

C:@Tﬂm’(ﬁ’ﬁ\_ﬂj
D. 3T

E. Y31 (®)
JWRIE DY o ElD H. 1d (G0 T [dbed] d I Ugl 3R &1 99 DIWIT:

ILAB.C.D.E

| B

B.C.D;AE

L]

.E.D.B.C.A

4 AB.C.E.D
Options :
686340149353.
686340149354,
686340149355.
686340149356.

AW N —

Question Number : 40 Question Id : 68634037819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : Silver revolution is related to Egg/poultry production.
Statement IT : White revolution is related to meat production.

In the light of the above statements., choose the correct answer from the options
given below :

1. Both Statement I and Statement II are tiue

[ B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement 1T 1s true
Options :
686340149357. 1
686340149358. 2
686340149359. 3
686340149360. 4

Question Number : 40 Question Id : 68634037819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYA I TG DI ST FAEA/PaPe e J Jald 3|

HY I1: 50 Hifa 579 Fae- 9 Gafia g

SIRITd $UA & e 4. T U T fased & 9 98l SR &1 997 St
1. BYA L AR I 9 §

HYTI AR N EHI A

HYAI I S, AP U I 3T

[ ]

Lad

4. FYFI I, AFTFA NTA B
Options :
686340149357. 1
686340149358. 2
686340149359. 3
686340149360. 4

Question Number : 41 Question Id : 68634037820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Food safety and standards authority of India that regulate the food
safety in India.

Reason R : All meat shops and slaughter houses have got FSSAI license.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

[

.Both A and R are correct but R 1s not the correct explanation of A
3. A s correct but R is not correct

4. A is not correct but R is correct
Options :
686340149361. 1
686340149362. 2
686340149363. 3
686340149364. 4

Question Number : 41 Question Id : 68634037820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149361. 1
686340149362. 2
686340149363. 3
686340149364. 4
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Question Number : 42 Question Id : 68634037821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following test is used to compare two variance?

1. F-test

J

. Z-test
3, T-test

4, Chi-gquare test
Options :
686340149365. 1
686340149366. 2
686340149367. 3
686340149368. 4

Question Number : 42 Question Id : 68634037821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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AR

-2
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Options :
686340149365. 1
686340149366. 2
686340149367. 3
686340149368. 4

Question Number : 43 Question Id : 68634037822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplest. more rapid & most commonly vsed basis of selection is

1. Pedigree selection

J

. Progeny selection
3. Individual selection

4. Family testing
Options :
686340149369. 1
686340149370. 2
686340149371. 3
686340149372. 4

Question Number : 43 Question Id : 68634037822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
TG 1 Fed ST, e iy o) 2R Galiie IugiT & o S are HIYR
¢

1. gergEl =4

2. Tdfd oig

3. diad® 99

4. yifarfye Sirg
Options :
686340149369. 1

686340149370. 2
686340149371. 3



686340149372. 4

Question Number : 44 Question Id : 68634037823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The genetic correlation between milk yield & fat yield is generally

1. Negative & high

| )

. Negative low
3. Positive & high

4, Positive & low
Options :
686340149373. 1
686340149374. 2
686340149375. 3
686340149376. 4

Question Number : 44 Question Id : 68634037823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR §7 &1 9T SR a9 disl H Saile ggyat S

1. BUTHD AR 3=

HUTHS AR g

[

3, YD AR 3=

4, YT IR
Options :
686340149373. 1
686340149374. 2
686340149375. 3
686340149376. 4

Question Number : 45 Question Id : 68634037824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Semen production. milk production & egg production are the example
of

1. Sex-linked characters

| )

. sex-limited characters
3. sex-influenced characters
4. sex-unliked characters

Options :
686340149377. 1



686340149378. 2
686340149379. 3
686340149380. 4

Question Number : 45 Question Id : 68634037824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R e, g e AR SHS-IdEd & SRS

1. fomT-aaH qam
2. fofr-iferg waror
3. fepT-mifaa wegun
4, fofmr arEEfed am

Options :

686340149377 1
686340149378. 2
686340149379. 3
686340149380. 4

Question Number : 46 Question Id : 68634037825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If AA=10 & aa=0. then which of the following is the example of complete
dominance?

1. Aa=5

b

Aa=]
3. Aa=10

4. Aa=15
Options :
686340149381. 1
686340149382. 2
686340149383. 3
686340149384. 4

Question Number : 46 Question Id : 68634037825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e AA=10 3R aa-0, § 91 Fafafaad & 3 &9 a1 gof wuiidar &1 Semo 22
1. Aa=5
2. Aa=7
3. Aa=10

4. Aa=15
Options :
686340149381. 1
686340149382. 2
686340149383. 3
686340149384. 4

Question Number : 47 Question Id : 68634037826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If arithmetic mean is 20 & standard deviation is 10 then find out coefficient of
variatice.

b

50
3:25

4. 20
Options :
686340149385. 1
686340149386. 2
686340149387. 3
686340149388. 4

Question Number : 47 Question Id : 68634037826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe FHIR 1199 20 . 3R G- fdge 10 8. O YRR Ul &1 12

1.2

[ ]
L
fur

4. 20
Options :
686340149385. 1
686340149386. 2
686340149387. 3
686340149388. 4



Question Number : 48 Question Id : 68634037827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a measure of central tendency?

1. Avithmetic mean

| )

. Median
3. Range

4, Mode
Options :
686340149389. 1
686340149390. 2
686340149391. 3
686340149392. 4

Question Number : 48 Question Id : 68634037827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafaRad & 9 o oy ygit & 71y =8l g2
1. SR [

e (#Hifsam)

. IRTE ()

4. 959D (H1S)

Options :

686340149389. 1
686340149390. 2
686340149391. 3
686340149392. 4

[

L% ]

Question Number : 49 Question Id : 68634037828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If value of mean deviation is 16. then the value of standard deviation is

rJ
=]

4., 64
Options :
686340149393. 1
686340149394. 2
686340149395. 3
686340149396. 4



Question Number : 49 Question Id : 68634037828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
afe 71 fggeq (@4 Sfauem) 16 © 91 5Fe fogas s aH BT

1.4

4. 64
Options :
686340149393. 1
686340149394. 2
686340149395. 3
686340149396. 4

Question Number : 50 Question Id : 68634037829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List T with List IT

LISTI LISTII
(Animal breed) (Peculiar character)
A |Surt I Phxture of Murrah & Surty
B. PJamunapart II. Mohair
C. |Angora IT1. |[Roman nose
D. PMehsana IV |Sickle Shape horn

Choose the correct answer from the options given below:

1. A-IIL B-IL. C-1. D-IV

| )

. A-LB-IL C-III. D-IV
3. A-IV. B-III. C-II. D-I

4. A-11. B-ITI, C-IV, D-1
Options :
686340149397 1
686340149398. 2
686340149399. 3
686340149400. 4

Question Number : 50 Question Id : 68634037829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 11 = 11 9 e Sifsg

T I 10
Y] T fafire darm
A g 1 [ SiR gl &1 Ty
B. [T I [HIgsR
C s 11 RiAF A
D. [FRH IV [GF Sfpid b i1
frafeiad faeedl 5 9 Het 3R &1 997 Sifoi ;

1. A-IIL, B-II. C-1. D-IV

| )

.A-L B-II. C-IIL. D-IV
3. A-IV, B-II1, C-II, D-I

4. A-I1., B-I11. C-IV, D-I
Options :
686340149397. 1
686340149398. 2
686340149399. 3
686340149400. 4

Question Number : 51 Question Id : 68634037830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The basic mechanism of hereditary transmission 13

A. Asexual reproduction

B. Polyploidy

C. Mitotic division

D. Splitting of chromosome
E. Glanders

Choose the most appropriate answer from the options given below :

1.D & E only

I

. D only
3. A& B only

4. E only
Options :
686340149401. 1
686340149402. 2
686340149403. 3
686340149404. 4

Question Number : 51 Question Id : 68634037830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340149401. 1
686340149402. 2
686340149403. 3
686340149404. 4

Question Number : 52 Question Id : 68634037831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : There is a unidirectional gene flow in closed nucleus breeding
scheme,

Statement I : Inbreeding is less in a closed nucleus breeding scheme.

In the light of the above statements. choose the most appropriate answer from
the options given below :

1. Both Statement I and Statement IT are correct

| ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I i3 incorrect but Statement I1 is correct
Options :
686340149405. 1
686340149406. 2
686340149407. 3
686340149408. 4

Question Number : 52 Question Id : 68634037831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. FYFI I, AFTFA NTA B
Options :
686340149405. 1
686340149406. 2
686340149407. 3
686340149408. 4

Question Number : 53 Question Id : 68634037832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : Heritability in the narrow sense is always less than or equal to he
broad sense heritability.

Statement IT : Heritability in the narrow sense is always greater than the broad
sense heritability.

In the light of the above statements. choose the correct answer from the options
given below :

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
Options :
686340149409. 1
686340149410. 2
686340149411. 3
686340149412. 4

Question Number : 53 Question Id : 68634037832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
6863401494009. 1
686340149410. 2
686340149411. 3
686340149412. 4

Question Number : 54 Question Id : 68634037833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two Statements : One 1s labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Arrangement of data in different rows & columns iz known as
collection of data.

Reason R: Process of arranging the data in different groups or classes according to
resemblance & similarities 1s known as classification of data.

In the light of the above statements. choose the most appropriate answer from
the options given below:

1. Both A and R are correct, and R is the correct explanation of A

[

. Both A and R are correct. but R i3 not the correct explanation of A

Lad

. A is correct but R is not Correct

4, A 1s not correct but R 1s Correct
Options :
686340149413. 1
686340149414. 2
686340149415.3
686340149416. 4

Question Number : 54 Question Id : 68634037833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Feadcl

SR R: YLyl 3R THEA & SR [ 9ug! a1 97l & Sel &1 sgafiyd
T D1 HehdT BT ST BT TR ded &

SIRIGd HYE & ATdie 4. 14 (U faPpedl § 3 gad SUgad S @1 949

1. A SRR S 981 8 SR R. A I U8 AR &

A AR R TE €, AFTR. A T O orem T €
3.ATGI g AR R G §
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Options :

686340149413. 1
686340149414. 2
686340149415. 3
686340149416. 4

[ ]

Question Number : 55 Question Id : 68634037834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A ; Association between two variables 1s known as correlation.

Reason R : Association between dependent & independent variable is known ag
repeatability.

In the light of the above statements. choose the most appropriate answer from
the options given below :

1. Both A and R are Correct. and R is the Correct explanation of A
2. Both A and R are Correct, but R is not the Correct explanation of A
3. A s correct but R is not Correct

4. A is not correct but R is Correct
Options :
686340149417. 1
686340149418. 2
686340149419. 3
686340149420. 4



Question Number : 55 Question Id : 68634037834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 3l P2 (AU §: U SITUSUT (Assertion A) P 30 I (1G4 & df THRI 39S
U (Reason R}%Wﬁ:

AfHFYT A: 3 R ARufTE) & & 90 o1 Teuay (HINRTT) Fed ol
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4 ATEI TS E APTRTEI §

Options :

686340149417. 1
686340149418. 2
686340149419. 3
686340149420. 4

—

Lad

Question Number : 56 Question Id : 68634037835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in ascending chronological order according to the number
of essential amino acids present in them.

A. Human
B. Buffale
C.Pig

D. Fish

E. Poultry

Choose the correct answer from the options given below:

I.LAB.C.D.E

| B

B, C:D,EA
3: B, A DR

4, ED.C.B.A
Options :
686340149421. 1
686340149422, 2
686340149423. 3
686340149424. 4



Question Number : 56 Question Id : 68634037835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiEd 1 3 Uiy & aid Saegsd AU Sl &1 §=1 6 HTER
HRIE! BTererd T oaid B |
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B. 19
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|

ol 5 Tl B £ 6

B CADE

Lad

4 E.D.C.B.A
Options :
686340149421. 1
686340149422. 2
686340149423. 3
686340149424, 4

Question Number : 57 Question Id : 68634037836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Order of moulding in layers (From 1st to last)

A. Head
B. Neck
C. Wings
D. Breas
E. Body

Choose the correct answer from the options given below:
1LAB.C.D.E
2.B.C.D.E.A
3. DB C.EA

4 AB.DEC
Options :
686340149425. 1
686340149426. 2
686340149427. 3
686340149428. 4



Question Number : 57 Question Id : 68634037836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUS & arell gEl (g § (wus 9 i) faues (@S @1 s@H s

A RR
B. e
C.dd
D. %
E. IRR @8N
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[ ]

- 0 Bl b B
3.D,B.C.EA

4. A.B.D.E.C
Options :
686340149425. 1
686340149426. 2
686340149427. 3
686340149428. 4

Question Number : 58 Question Id : 68634037837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
World Egg Day 1s celebrated on

1. Second Friday of September

-J

. Second Friday of October
3. Last Saturday of April

4, Last Saturday of May
Options :
686340149429. 1
686340149430. 2
686340149431. 3
686340149432, 4

Question Number : 58 Question Id : 68634037837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149429. 1
686340149430. 2
686340149431. 3
686340149432. 4

Question Number : 59 Question Id : 68634037838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Demonstration conducted by an extension worker about a practice in front of the
tarmers 1s called

1. Result demonstration

b2

. Method demonstration
3. Area Demostation

4, Meetings
Options :
686340149433. 1
686340149434. 2
686340149435. 3
686340149436. 4

Question Number : 59 Question Id : 68634037838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot T (310T) & SR H WOR ®ddl g1, o] & JH- e Hesiq
H Hedadicl

1. TR geRiH (R fSaReeH)
2. TG Ueg (ys fSaie )
3. & waRi

4, 95 (Hifdm)

Options :

686340149433. 1
686340149434, 2
686340149435. 3



686340149436. 4

Question Number : 60 Question Id : 68634037839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Most effective as well as most expensive method of extension teaching
it

1. Demonstration

b2

. Meetings

L¥%]

. Farm & Home Visit

4. Office call
Options :
686340149437. 1
686340149438. 2
686340149439. 3
686340149440. 4

Question Number : 60 Question Id : 68634037839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e yuEl iR Tl mel R Remreiusfa R
1. we=i (Feateem)
2. 9% (Hifdm
3. T 3R T8 Yl
4. By id

Options :

686340149437. 1
686340149438. 2
686340149439. 3
686340149440. 4

Question Number : 61 Question Id : 68634037840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is an example of indirect projection ?

1. Slide projection

| )

. Overhead projector

L*N]

. Filmstrip projector

4, Opaque projector
Options :
686340149441. 1



686340149442. 2
686340149443. 3
686340149444. 4

Question Number : 61 Question Id : 68634037840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SH I Y& VAT BT TP ISRR0I gl

1. W53 Wago

2. Have s Hludges

3. ey Uioieex

4, 3MRezff Uioiaey
Options :
686340149441, 1
686340149442, 2
686340149443, 3
686340149444. 4

Question Number : 62 Question Id : 68634037841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The method of selection of a loecal leader is

1. Sociometric method

J

. Discussion method
3. Election method

4, Random Selection
Options :
686340149445, 1
686340149446. 2
686340149447. 3
686340149448. 4

Question Number : 62 Question Id : 68634037841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R a1 & 9g4 1 fafd & g2
1. gaTAfde fafer
2. g1&-faarg wiafy
3. g4 fafy
4, grefes® =g fafd



Options :

686340149445. 1
686340149446. 2
686340149447. 3
686340149448. 4

Question Number : 63 Question Id : 68634037842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tendency of people to consider their own culture as superior to all others 15 known
as

1. Ethnocentrism

| B

. Perception

LX)

. Fidelity

4. Social taboo
Options :
686340149449. 1
686340149450. 2
686340149451. 3
686340149452. 4

Question Number : 63 Question Id : 68634037842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
ﬁﬁ%amﬂﬁﬁﬁwﬁ%ﬂ@ﬁﬁwﬁEQQWEﬁﬁh@%ﬁT
®8d gl

1. Uofdd -l

PG
3. fasadn
4, graTfore Ay

Options :

686340149449. 1
686340149450. 2
686340149451. 3
686340149452. 4

Question Number : 64 Question Id : 68634037843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The extension is teaching through

1. Learning by doing & learning by hearing

| )

. Learning by doing & seeing in believing
3. Learning by seemng & learning by hearing

4. Learning by self & Learning by domg
Options :
686340149453. 1
686340149454. 2
686340149455. 3
686340149456. 4

Question Number : 64 Question Id : 68634037843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faremor & ygR fogd gRIEAT 82

1. PR YRGAT SR FAD kg1

2. P el SR E H a3y e
3. TEDHR REAT 3R GADR HRaAl

4, WY URIISIR B g

Options :

686340149453. 1
686340149454. 2
686340149455. 3
686340149456. 4

Question Number : 65 Question Id : 68634037844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A lack between what is spoken by speaker & what is received by the audience 13
known as

—

. Fidelity

k2

. Perception
3. Communication Gap

4. Communication channel
Options :
686340149457. 1
686340149458. 2
686340149459. 3
686340149460. 4



Question Number : 65 Question Id : 68634037844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W%mﬁﬁmﬁ?mmwmﬂqmﬁfﬁﬁﬂﬂ%? R B
Eai

1. fasgeaan (Fen ¥ srar
2. G
3. Haregd

4, 4G 71O
Options :
686340149457. 1
686340149458. 2
686340149459. 3
686340149460. 4

Question Number : 66 Question Id : 68634037845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Faithful performance of all the elements of the communication process 1s known
as

1. Communication Gap

2

. Feedback

Lad

. perception

4, Fidelity
Options :
686340149461. 1
686340149462. 2
686340149463. 3
686340149464. 4

Question Number : 66 Question Id : 68634037845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARyl & gl i & fayT- o yeg"®l . SHIeIda gl
1. Yarg gl
2. wia gy
3. GRS
4, fasgzan

Options :
686340149461. 1



686340149462. 2
686340149463. 3
686340149464. 4

Question Number : 67 Question Id : 68634037846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a principle of Co-operative work?

1. Voluntary association

-J

. Concern for community
3. Equitable division of surplus

4, Autocratic control
Options :
686340149465. 1
686340149466. 2
686340149467. 3
686340149468. 4

Question Number : 67 Question Id : 68634037846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g 8 T o 9 IgIdl & Rgid R &/ T8l $an

1. Wis® e

2. Y& & fou fia=

3. ORI BT d T fFUTSH
4. ArTRITRT quf fiE

Options :

686340149465. 1
686340149466. 2
686340149467. 3
686340149468. 4

Question Number : 68 Question Id : 68634037847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Community development| I |Two way channel
B |Co operative II. Homogeneity
C. |Tribal community [11. [Rochdale principles
D |Extension IV |Destination man

Choose the correct answer from the options given below:

1. A-IIL, B-II. C-1. D-IV

-2

CA-L B-IL C-IIL. D-IV
3. A-IV. B-IIL C-II. D-I

4. A-11. B-TI1. C-IV. D-1
Options :
686340149469. 1
686340149470. 2
686340149471. 3
686340149472. 4

Question Number : 68 Question Id : 68634037847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks :

ﬂ}ﬁiﬁﬁ%ﬁﬂ@ﬁﬁﬂﬁﬁﬁm

e L g I
GRS [derd| L [elde®l 9aig
L [gH5gal

REERIEG
Teard] gHg™ | 111 Ribad [T
ER3IE IV. [eiféd oafad

fafaRad faeedi O 9 Tel 3R &1 994 Difold ;

1. A-IIL B-1I. C-1. D-IV

ofo[w[s

2. A-I. B-IL. C-III. D-IV
3. A-IV. B-III. C-II. D-I

4. A-I1. B-11I. C-IV. D-1
Options :
686340149469. 1
686340149470. 2
686340149471. 3
686340149472. 4

Question Number : 69 Question Id : 68634037848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

(LFI;IHI) LIST II (Technigues)
A |Spoken I. |Folder
B [Written II. |Tape recorder
C. Projected ITI. [Film
D. [Non projected | IV. [Puppet

Choose the correct answer from the options given below:

1. A-IL. B-I. C-II1. D-IV

| )

. A-L B-IL. C-1II. D-IV
3. A-Il. B-1II. C-1. D-IV

4. ATV, B-II1, C-11. D-1
Options :
686340149473. 1
686340149474. 2
686340149475. 3
686340149476. 4

Question Number : 69 Question Id : 68634037848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks :

ﬂ}ﬁ]ﬁﬁ%ﬁﬂ@ﬁﬁﬂﬁﬁﬁm
T 1 I

__ @) @HI)
A [HiRa® 1 [piesz
B. [ifad IL [¢U-Reprse
¢ [m&itd 111 [fthee
D. |H-H&itd (3H-Ueiides) | Iv. [dagacd
fraferRad famedl o 9 Tl IR &1 9971 ST :

1. A-IL, B-1. C-II1. D-IV

| )

.A-I B-1I. C-III. D-IV
3. AL B-ILL C-1, D-IV

4. A-IV, B-1I1. C-I1. D-1
Options :
686340149473. 1
686340149474. 2
686340149475. 3
686340149476. 4

Question Number : 70 Question Id : 68634037849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1
Read the following statements & mark your answers according to the options
given below :

A. News paper 13 a popular medium of communication in rural areas.
B. News paper is the written form of communication.

C. Filin show is an audio visual form of communication.

D. Film show iz a popular medium of communication in rural areas,
E. News paper is Audio form of communication.

Choose the most appropriate answer from the options given below :

1. A& B only

| B

.B & C only
3.C&Donly

4. E & A only
Options :
686340149477. 1
686340149478. 2
686340149479. 3
686340149480. 4

Question Number : 70 Question Id : 68634037849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiRed wul @ 9feT 3R 30 IR o1 A 4T fawedi | 9 sifey)

A UTH &3 H, THER U9, 99R &1 UF didiud 3reE B
B. YOER T4, 99R &1 U& fafEd ueyg g1

c. ftre O UOR &1 e90-40 TRd 6

D. ftre it yrtor & o TER %1 die ity oW

E. JHER U7, Y9R &1 40 W59 g |

- fau e fawedt & @ wEt S| &1 90 Fifon
1. &ael A 3R B
2. $aaB IR C
3. %94 C IRD
4. PAAE AR A

Options :

686340149477. 1
686340149478. 2
686340149479. 3
686340149480. 4




Question Number : 71 Question Id : 68634037850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Success in rural development project depends upon

A. Regular training of workers

B. Regular contract of workers

C. Amount of subsidy

D. Participation of beneficiaries

E. Without any development of people

Choose the most appropriate answer from the options given below :

1. E only

| ]

.A & B only
3.C & D only

4. D only
Options :
686340149481. 1
686340149482. 2
686340149483. 3
686340149484. 4

Question Number : 71 Question Id : 68634037850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt faerg ufeT & hadr e W) iR sdt 8

A. Brdsmar &1 Hafid ufdiem
B. PRGd 3l & (Haid sy
C. g (Fiewsh) ©f

D. T} @t FeuiE

E. SIFd1 & {dp™ & fam1

1 feu e famedl H ¥ el 3ok &1 944 Bl
1.BgAE
2. HAAAARB
3. %ad C AR D
4. ®adD
Options :
686340149481 1
686340149482. 2

686340149483. 3
686340149484. 4




Question Number : 72 Question Id : 68634037851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : Taboos means "Ought not to do” or that are religiously prohibited.
Statement II : Taboos are extremely strong norms.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both Statement I and Statement II are correct

I

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4, Statement I is incorrect but Statement IT is correct
Options :
686340149485. 1
686340149486. 2

686340149487. 3
686340149488. 4

Question Number : 72 Question Id : 68634037851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= &l wyF Ry MU B

YA 1 T (V) BT 3 &, e8] B e T it $9 3 Rt 3|

HYA I1: o1 3 Gee F6s o

SIRIT FYA & Heie 1, 7 KU T faeed & 9 98l SR &1 997 St
1. PYAL AR I T &

HYF T AR 1 SHI 3§

HYTI TS, AT YT I T B

[ ]

Lad

4. YT AT, AFTFYT N TAE
Options :
686340149485. 1
686340149486. 2
686340149487. 3
686340149488. 4

Question Number : 73 Question Id : 68634037852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following extension literature in increasing order of their number of
pages.

A, leaflet
B. pamphlet
C. bulletin
D. booklet
E. bock

Choose the correct answer from the options given below :
1.LALB.C.D.E
2.D.B.AE. C
3IiIB.CDEA

4, C.D.E.A.B
Options :
686340149489. 1
686340149490. 2
686340149491. 3
686340149492. 4

Question Number : 73 Question Id : 68634037852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeiad vaR Fifew &1 G- UNl &l ggdl =1 & YR U oafed
DI

A. Tagi (gafen)
B. JiKi®1 (UMh o)
C. §¥id

D. U3& (AHd)

E

1= fqu e fae el & O Ul Iugdd GO &1 90 ST
1.A.B.C.D.E
2.D.B.A,E.C
3.B.C.D.E.A

4. C.D.E.A.B
Options :
686340149489. 1
686340149490. 2
686340149491. 3
686340149492. 4

Question Number : 74 Question Id : 68634037853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Correct sequence of steps of extension teaching is

A, Conviction
B. Interest

C. Desire

D. Action

E. Attention

Choose the correct answer from the options given below :
1.LA.B.C.D.E
2. E.D.C.B.A
3. BB CAD

4. C.D.E.B.A
Options :
686340149493. 1
686340149494. 2
686340149495. 3
686340149496. 4

Question Number : 74 Question Id : 68634037853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 101 & 9 &1 9t s ©
A. {7
B.3[W
C. g3l
D. i

E. &M

1= fau U fde el O ¥ gad Iuged TR &1 90 B

1LABCIDE

[ ]

_E.D.C.B.A
3.E.B.C.A.D

4 C.D.E.B.A
Options :
686340149493. 1
686340149494, 2
686340149495. 3
686340149496. 4

Question Number : 75 Question Id : 68634037854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement I : Social change is a universal phenomenon.
Statement II : Speed of social change is not uniform.

In the light of the above statements. choose the correct answer from the options
given below :

1. Both Statement I and Statement II are true

|

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement IT is true

Options :

686340149497. 1

686340149498. 2

686340149499. 3
686340149500. 4

Question Number : 75 Question Id : 68634037854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GIEGICREICUR) i f

HYF I: IS uvad- e grayiias 9o |

SY I1: TS IR i 71d T G0 6l 6 |

SR P2 & fTdie 1, 71 U 7Y [dped o 9 Tgt ST &1 997 Bifol;
1. PUT T AR IS I &

HYF 1 AR I SHT A

Y I e, AP Py I 3T ©

[ ]

L% ]

4. FYTI . dPT Y NI B
Options :
686340149497. 1
686340149498. 2
686340149499. 3
686340149500. 4

Question Number : 76 Question Id : 68634037855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Extension education is formal education.
Reason R : Extension education is out of school education.

In the light of the above statements. choose the most appropriate answer from
the options given below :

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
Options :
686340149501. 1
686340149502. 2
686340149503. 3
686340149504. 4

Question Number : 76 Question Id : 68634037855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 2 H2F 20 §: U9 AfUSBU (Assertion A) & 30 T [AfEd € df T9R1 396
PIRUT (Reason R) & IU &:

ey A: TOR e, sig=niie fan gl
PROUT R: TR &7 feney ¥ s o fan 21

SR HUA & Helie O, i 34U faepedl O O gad 3ugad 9o &1 909

A SRR EHI T8I § SR R. A 31 98 IRAT &

2. A SR R G HEl €. TR, A BT Hel O 8T §
AT IR T AEE

4 AT S Al TR Tl ©

Options :

686340149501. 1
686340149502. 2
686340149503. 3
686340149504. 4

—

fad

Question Number : 77 Question Id : 68634037856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Brokers & communication agents are known as agent middle men.
Reason R : Wholesalers & retailers agents are known as merchant middlemen.

In the light of the above statements. choose the most appropriate answer from
the options given below :

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R ig not correct

4. A is not correct but R is correct
Options :
686340149505. 1
686340149506. 2
686340149507. 3
686340149508. 4

Question Number : 77 Question Id : 68634037856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 2 H2F 20 §: U9 AfUSBU (Assertion A) & 30 T [AfEd € df T9R1 396
PRUT (Reason R) & IU &:

HIUSYT A: a1 SR FIR i 31, gt aw 7wy (wole fbfsa 1)
FRIT el

gﬂ?ﬂ?n:%ﬁm 3R ped fahdl Wi ®1, Rl 99 g3y $el ol
|

SR YA & ATdl® o, A4 U fAPed] O 9 gad Sugad SR &1 949

A SR REH HE1 € AR R, A B HEI AR ©

2. A IR R S W€ §, AP R, A B Tt carem AT @
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4 ATEI TS E APTRTEI §

Options :

686340149505. 1
686340149506. 2
686340149507. 3
686340149508. 4

—

Lad

Question Number : 78 Question Id : 68634037857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Adulteration of milk fat with hydrogenated vegetable oils like Vanaspati 1s
detected by

1. Hansa test

b2

. Benedict test
3. Baudoin test

4. Iodine test
Options :
686340149509. 1
686340149510. 2
686340149511. 3
686340149512. 4

Question Number : 78 Question Id : 68634037857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g G H. TS5 o-i9d a%ald aal o aedia °i & fiaae &1 ggaH
fafd g1 &1 9 B

1. S47 TRI&fu
2. §AfSae TRIem

3. lelg Ul&m
4, AOIB A T80

Options :

686340149509. 1
686340149510. 2
686340149511. 3
686340149512. 4

Question Number : 79 Question Id : 68634037858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The product obtained by acid coagulation of hot milk & subsequent drainage of
whey i3

1. curd

b2

.Khoa
3. chhenna

4. Rasogolla
Options :
686340149513. 1
686340149514. 2
686340149515. 3



686340149516. 4

Question Number : 79 Question Id : 68634037858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH g8 D1 i1 YFDTHRU (THI) SIR &8 § Hg Y Sai-orl i uishar o
S aTell IS 1 BTNl 82

1. g8l
2. [
3. &1

4. I
Options :
686340149513. 1
686340149514. 2
686340149515. 3
686340149516. 4

Question Number : 80 Question Id : 68634037859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yellow colour in the ereamy layer of milk may be caused by

1. Pseudomonas synxantha print

[ )

. Pseudomonas syncyanea
3. Pseudomonas synxantha & pseudomonas syncyanea

4, 5, Marcescens
Options :
686340149517. 1
686340149518. 2
686340149519. 3
686340149520. 4

Question Number : 80 Question Id : 68634037859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340149517. 1
686340149518. 2
686340149519. 3
686340149520. 4

Question Number : 81 Question Id : 68634037860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Standard milk contains

1. 8.5% Fat & 4.5% SNF

| )

3% Fat & 9% SNF
3. 5% Fat & 8.5% SNF

4, 4,5% Fat & 8.5% SNF
Options :
686340149521. 1
686340149522. 2
686340149523. 3
686340149524. 4

Question Number : 81 Question Id : 68634037860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AA® gy o HGIEL

1. 8.5% TET 3 4.5% SNF

. 3% 9T 3{1X 9% SNF

|

3. 5% 9T 3{¥ 8.5% SNF

4. 4.5 91 3R 8.5% SNF
Options :
686340149521. 1
686340149522. 2
686340149523. 3
686340149524, 4

Question Number : 82 Question Id : 68634037861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



More spoilage of eggs 1s caused by
1. Fishy flavor
2. Hay odour
3. Bacteria than mold

4. Cabbage - water flavor
Options :
686340149525. 1
686340149526. 2
686340149527. 3
686340149528. 4

Question Number : 82 Question Id : 68634037861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el H siftie @Ia! &1 HRUT T &7
1. 93dl & 929 T3
2 YA BT

3. Bha ®l T H Siar]
4, T O B T

Options :

686340149525. 1
686340149526. 2
686340149527. 3
686340149528. 4

Question Number : 83 Question Id : 68634037862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An ideal antimicrobial agent should have

1. Good Oral bio availability

o

2. Long shelf life

Lad

. Long elimination half-life

4. All of these
Options :
686340149529. 1
686340149530. 2
686340149531. 3
686340149532. 4

Question Number : 83 Question Id : 68634037862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :



No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TS 31ax] idsiian SR § o1 g1 J1i6T:
1. 381 BRI la Suaed
2. Tl (T S (Ww aRw)
3. T S Y-S (UA-RH-8T Te )

4, IR i
Options :
686340149529. 1
686340149530. 2
686340149531. 3
686340149532. 4

Question Number : 84 Question Id : 68634037863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following types of meats contain firm & fine muscle fibers?

1. Horse meat

J

. Fish meat
3. Poultry meat

4, Buffalo meat
Options :
686340149533. 1
686340149534. 2
686340149535. 3
686340149536. 4

Question Number : 84 Question Id : 68634037863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafea # 9 g vorR & 019 § T3 ok aRie Aausim W g &2
1. 98 H A

TS S Ea

3. Pape P AT

1 Y9H O

Options :

686340149533. 1
686340149534. 2
686340149535. 3
686340149536. 4

| ]



Question Number : 85 Question Id : 68634037864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Pashmina is produced from

1. Chegu

[ B

. Changthangi

L]

. Chegu and changthangi

4, Gaddi
Options :
686340149537. 1
686340149538. 2
686340149539. 3
686340149540. 4

Question Number : 85 Question Id : 68634037864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URTHIT &1 3are fbad §ial 82
1. 979
2. YA
3. B AUT I E
4. TR

Options :

686340149537. 1
686340149538. 2
686340149539. 3
686340149540. 4

Question Number : 86 Question Id : 68634037865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What percentage of milk protein is contributed by Casein?

1. 60%

| )

. 70%
3. 80%

4, 90%
Options :
686340149541. 1
686340149542. 2
686340149543. 3



686340149544. 4

Question Number : 86 Question Id : 68634037865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
P gR1 fha Wd=Id g Wi e fhar Sl 62

1. 60%

| B

. 70%
3. 80%

4. 90%
Options :
686340149541. 1
686340149542. 2
686340149543. 3
686340149544. 4

Question Number : 87 Question Id : 68634037866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
HTST pasteurization kills %o bacteria.

1. 99.99%

2. 69.99%

¥
Lh

0%

4, 0%
Options :
686340149545. 1
686340149546. 2
686340149547. 3
686340149548. 4

Question Number : 87 Question Id : 68634037866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTST TR0 9 % FECIGT 7R 910 5 |

1. 99.99%

[ ]

. 69.99%

4. 0%
Options :
686340149545. 1
686340149546. 2



686340149547. 3
686340149548. 4

Question Number : 88 Question Id : 68634037867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
By-product of cheese 13

A. Buttermilk
B. Lassi

C. Skim mulk
D. Buffer oil
E. Whey

Choose the most appropriate answer from the options given below :

1. A. D and E only

[ ]

.A & C only
3.D & Conly

4, E only
Options :
686340149549. 1
686340149550. 2
686340149551. 3
686340149552. 4

Question Number : 88 Question Id : 68634037867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR &1 H8-I1E 18|

A TS
B. @&g!

C. HlTs Fepren g (Rpm) gy
D. §ex 3iad

E. Hgl (®)
14 fau T faeedl o O Tl 3R &1 98 I
1.A.D & E $ad
2. Pad AR C
3.%adD AR C
4, AU E
Options :

686340149549. 1
686340149550. 2



686340149551. 3
686340149552. 4

Question Number : 89 Question Id : 68634037868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Peak milk yield in dairy cattle 1s

A. 6-8 weeks of lactation
B. 4-6 weeks of lactation
C. 8-12 weeks of lactation
D. 2-4 weeks of lactation
E. 13-14 weeks of lactation

Choose the most appropriate answer from the options given below :

1. Aonly

[ ]

.B & C only
3.D & E only

4, E only
Options :
686340149553. 1
686340149554.2
686340149555. 3
686340149556. 4

Question Number : 89 Question Id : 68634037868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST g3l § Hale IcTe &Hdl B il 62

A. G TV & 6-8 TG
B. 3T HaU & 4-6 <6
C. Y HIU &P 8-12 HKIIG
D. 3% HaUl & 2-4 16
E. g HaU & 13-14 §ilg

14 fau T faeedl o O Tl 3R &1 98 I
1. $Pad A
2. ®aaB IR C
3.%dd D AR E
4, AU E
Options :

686340149553. 1
686340149554. 2




686340149555. 3
686340149556. 4

Question Number : 90 Question Id : 68634037869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the content composition of sweet cream. butter milk in ascending order.

A, Ash

B. Lactose
C. Fat

D. Protein
E. Water

Choose the correct answer from the options given below :

LeA DB E

-

LA BeC D E
3.AD.C.B.E

1. E. D C,B. A
Options :
686340149557. 1
686340149558. 2
686340149559. 3
686340149560. 4

Question Number : 90 Question Id : 68634037869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A3t gas, 919 & U 94 91 dwai & Jedieq @i 3Rie! hH H ogaled &1

A. I (U3 (U
B. tidelol
C. g9l

D. Ul

E. o

- feu g fawedi | 9 el 3R &1 =94 B

A DBE

2A B, CD.E
3ADCB.E

4. E.D,C.B.A
Options :
686340149557. 1
686340149558. 2
686340149559. 3



686340149560. 4

Question Number : 91 Question Id : 68634037870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Composition of Dahi prepared from whole milk in descending order.

A. Minerals
B. Fat

C. Lactose
D. Protein
E. Water

Choose the correct answer from the options given below :
1.LAB.C.D.E
LER CDA
3.C.E.D.A.B

4.D.B. A C.E
Options :
686340149561. 1
686340149562. 2
686340149563. 3
686340149564. 4

Question Number : 91 Question Id : 68634037870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tyul g8 4 &gl &1 H Al 1 Ued gU pH H oqaiyd R |

A G
B. 34l
C. vaeid
D. HieH
E.Od

oy

Ao 14U U [d@ed] 1 O el 393 &1 909 Bl

LA BoC I E

| ]

.E.B.C.D.A
3.C.E.D.A.B

4. D.B.A.C.E
Options :
686340149561. 1
686340149562. 2
686340149563. 3
686340149564. 4



Question Number : 92 Question Id : 68634037871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Lactose is the least variable component of milk .

Statement IT : While fat is the most variable component of milk.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both Statement I and Statement IT are correct

-

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct
Options :
686340149565. 1
686340149566. 2
686340149567. 3
686340149568. 4

Question Number : 92 Question Id : 68634037871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

= &1 By Ry MU B
HYF I: 37 DI JGY $8 URG0HY dd dae el ¢ |
BYF 11 TE(P g7 BT Ty 3P IRad-1g ad g 8|
SIRITd $UA & Maie 4, - BU T faeed & ¥ Wel SR &1 997 St
1. PYAI AR M GH 9 §
2. TYF 1 IR 11 HT 3R &
3. PYTI A ©. W DYT I 3T &
TREAIES I ORCICE AR S | U
0340149565, 1
686340149566. 2

686340149567. 3
686340149568. 4

Question Number : 93 Question Id : 68634037872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Oxytocin reflex is not required in case of goat for letdown.

Reason R : Goats store up 80% of their milk in the cisterns.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

B

. Both A and R are correct but R 1is not the correct explanation of A

L]

. A 15 correct but R is not correct

4. A is not correct but R is correct
Options :
686340149569. 1
686340149570. 2
686340149571. 3
686340149572. 4

Question Number : 93 Question Id : 68634037872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 2 H2F 20 §: U9 AfUSBU (Assertion A) & 30 T [AfEd € df T9R1 396
PIRUT (Reason R) & IU &:

fUPYT A: TH &I TR (Aeard~) & T § silately= ufgad o
3TagdHdl ol sl |

BROT R: TH< AT 3 BT 80% e § YUSRUT A & |

SR YA & el O, i 34U faeedl O O gad 3ugad 9w &1 909
PIIT.

AR REH T8l € SIRR. A @ Tol AR &

2. A R R EFI T8l §. AfFT R, A T Gel ORI 81 &

AT R ORISR ®

4, ATEI 6l g dlPT R TEl g
Options :
686340149569. 1
686340149570. 2
686340149571. 3
686340149572. 4

—

fad

Question Number : 94 Question Id : 68634037873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Typical taste of milk is due to Lactose & chloride.

Reason R : Most constant property of milk is freezing point.

In the light of the above statements. choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

B

. Both A and R are correct but R 1is not the correct explanation of A

L]

. A 15 correct but R is not correct

4. A is not correct but R is correct
Options :
686340149573. 1
686340149574. 2
686340149575.3
686340149576. 4

Question Number : 94 Question Id : 68634037873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 2 H2F 20 §: U9 AfUSBU (Assertion A) & 30 T [AfEd € df T9R1 396
PIRUT (Reason R) & IU &:

HTUBYT A: G & [AIRTY W15 il aul KRS & SRS 6|
BRI R: 37 BT Gaiids RR 101 391 figrie g gl

SR HUA & Helie O, i 34U faepedl O O gad 3ugad 9o &1 909

A SRR EHI T8I § SR R. A 31 98 IRAT &

2. A SR R G HEl €. TR, A BT Hel O 8T §
AT IR T AEE

4 AT S Al TR Tl ©

Options :

686340149573. 1
686340149574. 2
686340149575. 3
686340149576. 4

—

fad

Question Number : 95 Question Id : 68634037874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
A Comminution of I Mixing of lur.ing ingre_d_ients with .
©7 |meat " |zround meat in a specified proportion
Flasification of 1 Incorporation of non meat food items in
" jmeat " Imeat product

C. Meat extension 11T Mixing of different animal meat

D. I:P;::ﬁlendmg it IV. Reducing of raw meat in to pieces

Choose the correct answer from the options given below:

1. A-TV. B-III. C-II. D-1

| ]

CA-L B-IIL C-IIIL. D-IV

Tad

AL B-IV, C-1, D-II

4. A-1. B-IV. C-TI1. D-TI
Options :
686340149577. 1
686340149578. 2
686340149579. 3
686340149580. 4

Question Number : 95 Question Id : 68634037874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1T = 11 ¥ e Sifsy
e T I

o , U 429 SUTd § I §-10
A Fﬁﬁ”ﬁfw 1 [guTte & WY 1HuS gl

e B iy
B [Hf e | 1 [l S [ H

CISERREIE : S+ w
C- | eusiearn 111 [fafim gxpei & 1ig @ ffEm
o [FEEgE sy | [ A S ghsl H seay

FafciRad f[deegi § O 9el 3T &1 99 Do -

1. A-IV. B-III. C-II. D-I

[ B

cA-IL B-II. C-IIL. D-IV
3. A-IIL B-IV. C-1. D-II

4. A-1. B-IV. C-1II. D-I1
Options :
686340149577. 1
686340149578. 2



686340149579. 3
686340149580. 4

Question Number : 96 Question Id : 68634037875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Dahi 1. |Frozen dairy product
B |Ghee IT. |Concentrated whole milk product
C. [Khoa 1. |Pure clarified butter fat
D |lce cream IV |Indian curd

Choose the correct answer from the options given below:

1. A-IV. B-III. C-II. D-I

-2

CA-L B-IL C-IIL. D-IV
3. A-IL B-1IL. C-1. D-IV

4. A-TII. B-IV. C-1. D-II
Options :
686340149581. 1
686340149582. 2
686340149583. 3
686340149584. 4

Question Number : 96 Question Id : 68634037875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 gl 11 9 e o

g1 T I
A Gt 1 [oRiifdd sTil 3G
B [ 1. [grfsd 9y g SdTE
C. [ 111 [ HE1TET Ao 94|
D. [3mEEmiE V. [YRdg el

afciRad [doedi © O gl 392 &1 9494 Dol -
1. A-IV. B-IIL C-II. D-I
2. A-1 B-IL. C-IIL D-IV
3, A-I1, B-IIIL, C-1, D-IV
4. A-IIL B-1IV. C-I, D-TI
Options :
686340149581. 1

686340149582. 2
686340149583. 3



686340149584. 4

Question Number : 97 Question Id : 68634037876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Fixed capital or non-recurring expenditure includes

1. Feeding during lactation period

[ ]

. Insurance charges

Lad

. Buildings

4. Labour charges
Options :
686340149585. 1
686340149586. 2
686340149587. 3
686340149588. 4

Question Number : 97 Question Id : 68634037876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

3=e Yol SR SH1adl ogg © oy Siiferd 62
1. G HaU 3afd & SR Raar
2. | Yo

3. Hd+q

4. 91 b
Options :

686340149585. 1
686340149586. 2
686340149587. 3
686340149588. 4

Question Number : 98 Question Id : 68634037877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1s the amount that applicant of the project can spend from his own
resources and it 1s generally 25% of the total cost excluding the cost of land.
1. Margin money
2. Loan money

3. Loss of project

4. Profit of project
Options :



686340149589. 1
686340149590. 2
686340149591. 3
686340149592. 4

Question Number : 98 Question Id : 68634037877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢ @I dg HEI g 9l HTdad HY T1eHl ¥ uRaieH § §d @) 9l 6.
3R T8 TH: Y & 0o & sifaRed. od gou &1 25% |

1. HIfSH M

2. BYR (@) A
3. giearoT &1 g1
4, GIRGISHT BT AT

Options :

686340149589. 1
686340149590. 2
686340149591. 3
686340149592. 4

Question Number : 99 Question Id : 68634037878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Factors affecting on economic returns of poultry excludes

1. size of flock

[ B

. Rate of lay

fad

. Cost of inputs

4, Pay back period
Options :
686340149593. 1
686340149594. 2
686340149595. 3
686340149596. 4

Question Number : 99 Question Id : 68634037878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fape UIeH H 31e Hiawd &1 UHIdd &3 al SRD| |
g 781

1. JUS BT HHR
2. TS G BT
3. g s g
4. U@ B 3afy

Options :

686340149593. 1
686340149594. 2
686340149595. 3
686340149596. 4

Question Number : 100 Question Id : 68634037879 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Working capital in economics of dairy unit does not include

1. Veterinary Aid

J

. Maintenance of Calves
3. Feeding during dry period

4. Animals & equipments
Options :
686340149597. 1
686340149598. 2
686340149599. 3
686340149600. 4

Question Number : 100 Question Id : 68634037879 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ¥ 358 gepTs, & foy risfiel dofl § fthfed TEi gl
1. ug-FRfdear (dei=R_) gemaadn
2. 9581 DI q@HIA
3. Y0 3alY & SR e
4. U] SR IUHI]

Options :

686340149597. 1
686340149598. 2
686340149599. 3
686340149600. 4



